E] Electrolux

ELECTROLUX HOME PRODUCTS PTY LTD

ABN 51 004 762 341

Technical Publication N° CE598

Issue: 1
Date: 12/12

SEPARATE GRILL UNDERBENCH

WESTINGHOUSE

ELECTRIC

OVENS

/I\/IODELS:
PGR657S

PGRG657W

~

PNC 94403145303

PNC 94403145403

/

© Copyright 2012 ELECTROLUX HOME PRODUCTS PTY LTD Technical Services



MAINTENANCE LEVEL CHANGE SUMMARY

03 90 minute timer introduction.

Page 2 CE598

First Built Dates:

PGR657S

1/13

PGR657W

1/13




CONTENTS PAGE N°

FIRST BUILT DATES 2
CONTENTS 3
FRONT FRAME ASSEMBLY 4
PANEL DECK ASSEMBLY 5
OVEN ASSEMBLY 6-7
CHASSIS ASSEMBL 8
CONTROL PANEL ASSEMBLY 9
GRILL ASSEMBLY 10
OVEN DOOR ASSEMBLY 11
GRILL DOOR ASSEMBLY 12
INTERNAL PACK 13
CIRCUIT DIAGRAM 14
NOTE: In Parts Listings N.I. Not Illustrated

No Part Available
Not Used on this Model

N.P.A.
N.P.N.

Page 3 CE598




0081 009 224.doc

MODELS: EX. VIEW DRAWING 7613

CHASSIS ASSEMBLY

PGR657W

PGR657S

TSV

P
e o« OF oe
7

Do

S

o

\F
N

U

ITEM

PART N°

DESCRIPTION Ex 7613

QTY

0545 002 901

TRIM SURROUND C/PANEL NGD

0160 003 619

CAP MOUNT F/FRAME R/H NGD

0160 003 620

CAP MOUNT F/FRAME L/H NGD

0048 004 792

CHANNEL FRONT SGUB LH NGD

0048 004 791

CHANNEL FRONT SGUB RH NGD

0701 009 027

SCREW #8 X 1/2 MUSH #2PH AB BK

0589 001 032

BUMPER STOP BLACK OC98

0081 009 225

FRAME FRONT PAINT ELE SGUB NGD

OO N[OOI W|IN|F

0208 003 460

SEAL OVEN NOTCHED NGD

RIRINX P[RRk |P

Page 4 CE598




0038 003 323.doc

MODELS: PGR657S

PGR657W EX. VIEW DRAWING 7614
PANEL DECK ASSEMBLY

ITEM

PART N°

DESCRIPTION Ex 7614

QTY

0257 001 042

CANOPY FAN ASSEMBLY SGUB NGD

0701 009 027

SCREW #8 X 1/2 MUSH #2PH AB BK

0701 002 113

SCREW #6 X 9.5 PAN PHIL ZC

0541 001 232

THERMAL CUTOUT 145 DEG N.C.

0541 001 250

THERMAL CUTOUT 100 DEG N.O.

0038 003 292

PANEL DECK INTER ELEC BIOS

N[OOI WIN(EF

0092 001 210

FLUE DUCT OVEN SGUB BIOS

RlR(RR D W~

Page 5 CE598



0395 002 246.doc
MODELS: PGR657S PGR657W EX. VIEW DRAWING 7748
OVEN ASSEMBLY

Page 6 CE598



ITEM | PART N° DESCRIPTION Ex 7748 QTY
1 0208 003 452 | SEAL OVEN BIOS MK 2 1
2 0038 016 777 | PANEL FAN COVER ELEC ENAM BIOS 1
3 N.P.A. OVEN ENAM ELEC FAN NGD 1
4 0122 004 574 | ELEMENT FAN RING EGO 1
5 0212 002 107 | HOLDER LAMP ASSY BIOS 1

LMO03 LAMP 25W SES E14 300°C CLEAR (PT OF ITEM 5) 1

6 0125008 371 | CLIP THERMOSTAT BIOS 1

7 0374 005 197 | INSULATION OVEN WRAP ELEC BIOS 1

8 0374 005 245 | INSULATION OVEN BACK 80 NGD 1

9 0701 009 033 | SCREW #8 X 8MM HEX/MULTI X

10 0489 001 146 | BRACE OVEN REAR B/l BIOS 1
11 0701 002 133 | SCREW #6 4.2X28 HILO PAN PH X
12 0349 001 376 | SHIELD WIRING TERMINAL BIOS 1
13 0214 002 118 | MOTOR FAN OVEN - BIOS 1
14 0003 012590 | BAR CONNECTOR W/EARTH BIOS 1
15 0026 001 042 | FAN IMPELLER OVEN BIOS 1
16 0065 009 265 | NUT M6 L/H FAN MOTOR 1
17 0701 009 027 | SCREW #8 X 1/2 MUSH #2PH AB BK 2
N.l. | 0541 001 258 | THERMAL CUTOUT 190 DEG N.C. 1

Page 7 CE598



0402 001 127.doc
MODELS: PGR657S PGR657W EX. VIEW DRAWING 7615
CHASSIS ASSEMBLY

ITEM | PART N° DESCRIPTION Ex 7615 QTY

0038 003 291 | PANEL BASE BIOS

0038 006 868 | PANEL SIDE SGUB L/H NGD
0038 008 081 | PANEL COVER WIRE SGUB BIOS
0022 041 136 | PLATE CVR TERM ELEC BIOS
0701 009 033 | SCREW #8 X 8MM HEX/MULTI
0038 005 617 | PANEL TOP BIOS

0038 006 867 | PANEL SIDE SGUB R/H NGD

N[OOI W|IN|F
Pt Ll

Page 8 CE598



0038 012 479 480 MLO3

MODELS:

PGR657S

PGR657W

EX. VIEW DRAWING 7750
CONTROL PANEL ASSEMBLY

ITEM | PART N° DESCRIPTION Ex 7750 S \W
1 0065 009 209 | NUT METRIC M10 X 0.75 1 1
2 0019 008 160 | KNOB ASSY W/HOUSE BLADE SILVER 3
0019 008 159 | KNOB ASSY W/HOUSE BLADE WHITE 3

3 0038 012 714 | PNL CNT & CLIPS PGR657S 1
0255 004 084 | GLASS & CLIPS PGR657W 1
4 0701 009 040 | SCREW #8 X 45 PAN QUADREX 2 2
5 0022 041 102 | PLATE MTG SWITCH MULTI 7 BIOS 1 1
6 0150 005 259 | SCREW M4 X 5 PAN #2PH SMALL HD 2 2
7 0574 001 277 | TIMER 90 MIN CUT OFF WESTLAKE 1 1
8 0534 001 749 | SWITCH AUXILIARY BIOS 1 1
9 0541 001 931 | THERMOSTAT OVEN - EGO 1 1
10 | 0060 002 094 | LIGHT IND REDLENS BLK 600MM 2 2
11 | 0534 001 654 | SWITCH INF/HEAT MP-101-EA OC98 1 1
N.l. 10271 001 309 | SPACER CONTROL PANEL BIOS 2 2

N.l. | 0600 001 069 | LENS INDICATOR BIOS 2

Page 9 CE598



0488 001 430.doc

MODELS: PGR657S PGR657W

EX. VIEW DRAWING 5857
GRILL ASSEMBLY

ITEM

PART N°

DESCRIPTION Ex 5857

QTY

0125 008 345

CLIP ELEMENT MOUNT OC98/UC20

0012 018 695

SUPPORT ELEMENT GRILL BIOS

0122 004 537

ELEMENT C/HEAT 1800W S/S321

0038 005 625

PNL GRILL TOP SGUB ALUM BIOS

0374 005 242

INSULATION GRILL SGUB NGD

0589 001 037

BUMPER STOP RUNNER

0488 001 394

GRILL BOX ENAM SHALLOW BIOS

0701 009 033

SCREW #8 X 8MM HEX/MULTI

O OINO U W|N|F

0559 001 102

DUCT OVEN SGUB ASSY BIOS-ELECT

[
o

0024 010 088

SLIDE GRILL ASSY DOUBLE ACTION

NP OR|INR[R|R RN

N.I.

0701 002 103

SCREW #8 X 3/8 PAN #2PH AB

I

N.I.

0374 005 242

INSULATION GRILL SGUB NGD

[ERN

Page 10 CE598




0009 001 687 690.doc
PGR657S

MODELS:

PGR657W EX. VIEW DRAWING 7743
OVEN DOOR ASSEMBLY

ITEM | PART N° DESCRIPTION Ex 7743 S W
1 0050 010 791 | HANDLE DOOR WEST ANODISED NGD 1

0050 010 792 | HANDLE DOOR WEST SILVER NGD 1

2 0160 003 628 | ENDCAP HANDLE BLK WEST NGD 2 2
3 0038 002 840 | PAN OV DR OUT ASS SS WEST NGD 1

0038 002 851 | PAN OV DR OUT ASS WHT WEST NGD 1

4 0702 004 020 | SCREW 3/16X28 PAN PH TRILOB ZY 2 2

5 387077001 | HINGE 2-L OVEN DOOR NGD 2 2

6 0255 003 899 | GLASS OV DR IN REFL NGD 1 1

7 0545 002 748 | TRIM DOOR TOP VENT NGD 1 1

N.l. | 0271 001 354 | SPACER HANDLE GLS DR NGD 2 2

Page 11 CE598



0009 006 762_770.doc

MODELS: PGR657S PGR657W

EX. VIEW DRAWING 7751
GRILL DOOR ASSEMBLY

ITEM | PART N° DESCRIPTION Ex 7751 S \W
1 0050 010 791 | HANDLE DOOR WEST ANODISED NGD 1
0050 010 792 | HANDLE DOOR WEST SILVER NGD 1
2 0160 003 628 | ENDCAP HANDLE BLK WEST NGD 2 2
3 0038 002 758 | PNL SGUB OUT ASS SS WEST NGD 1
0038 002 768 | PNL SGUB OUT ASS WHIT WEST NGD 1
4 0702 004 020 | SCREW 3/16X28 PAN PH TRILOB BK 2 2
5 0374 005 241 | INSULATION DOOR SGUB NGD 1 1
6 0708 001 060 | RIVET CHERRY 73 AS 6-3 2 2
7 0188 002 271 | SEAL - GLASS GRILL DOOR SMALL 1 1
8 0038 001 895 | PNL IN GR DR SGUB ENAM NGD 1 1
9 0589 001 036 | BUMPER STOP MAGNET 2 2
10 | 0626 001 004 | MAGNET GRILL DOOR 2 2
11 | 0701 009 033 | SCREW #8 X 8MM HEX/MULTI 2 2
12 | 0701 003 073 | SCREW #8 X 5/8 CSK #2PH AB BK 2 2
13 | 0024 010 088 | SLIDE GRILL ASSY DOUBLE ACTION 2 2
14 | 0030 024 220 | BRKT GR DR RUN SUPT ENAM 600UP 1 1

Page 12 CE598




0263 010 564.doc
MODELS: PGR657S

PGR657W EX. VIEW DRAWING 7784
INTERNAL PACK

ITEM | PART N°

DESCRIPTION Ex 7784

QTY

*0327 001 320

RACK SHELF OVEN WESTINGHOUSE

0037 004 047

TRAY BAKING FULLWIDTH TINPLATE

*0327 001 319

RACK SIDE SUPPORT OVEN EVOLVE

0036 001 108

DISH GRILL ENAM SGUB BIOS

G IWIN|(F

0028 025 393

COVER GR DISH ENAM S/LESS BIOS

RlR(N| RN

NOTE * RACK PACK 0327 001 322 319/320 NGD INC ITEMS 1 & 3

Page 13 CE598



MODELS: PGR657S PGR657W CIRCUIT DIAGRAM

N1RR_NN2_2729Q

T5°C RATING MINIMUM

CABLE OF
WARNING: THIS RANGE MUST BE EARTHED

= =T
O
<
)
T <
I
0
=
L oo
| agl '
=T o~
;o
o 4 anl —i
— < (3
= = &
_ o
e I
LN
— ol L7
— —_
- = [T
I o
(o) i’;;é\
'_
=
= -~
= W
— ] & >
)= = - 2
= | ~F u
Ay A:I N o =
) L=
==
_ 2 I o s 2
= S 4 bl =g
wr -
= = (] oo
r -~ wl
a jg:f =~ Z
EH] <r §
L1
e 035
.
=
= O £ =
1w, 2=
SEg0
T T
~ - ] N = o
=T \_J & ‘)_,_,(‘O = Blﬁ
N o
s 9w
¥ g
=2 o=
== =3
=3
=
=L
-F - =
v
]
&
T
wi
o
2
w
-
o
pun
2
<<
=
o
&
©
<T
n
0
|
(S
—|Z
O =
v
&
T
o
=
=3
=
<
=2
@
z
o
=
o
8
v
w1
<
o
v
<
r
5
=
o
(=]
e
o
W
T

INSTALLATION, IT 1S PROBABLY CAUSED BY MOISTURE FROM THE ATMOSPHERE BEING ASSORBED BY THE E

RANGE HAS BEEN PRODUCED. (PASS AT 0.01 M0 AS/NZS 3000 WIRING RULES CLAUSE 8.3.6.2)

THIS RANGE MUST BE CONNECTED WITH
INSTALLATION INSPECTOR PLEASE N

WARNING
IT IS ILLEGAL FOR PERSONS OTHER THAN LICENSED ELECTRICAL MECHANICS OR PERSONS
AUTHORISED BY LEGISLATION TO WORK ON THE FIXED WIRING OF ANY ELECTRICAL
INSTALLATION. PENALTIES FOR CONVICTION ARE SEVERE.

IMPORTANT SAFETY NOTICE
This diagram has been prepared for use by electrically qualified service technicians. Electrolux
cannot be held responsible for the interpretation of its service publications nor for any injury or
damage that may occur in connection with their use.

Page 14 CE598




